UNIT-4
G R E E N

1. The general solution of dy/dx=ex+y  is										(b)
a) ex +ey =c   b)ex +e-y =c  c)e-x +ey  =c  d)e-x +e-y  =c
2. Find the differential equation corresponding to y=aex +be2x +ce3x 				(a)
a) y111 -6y11+11y1-6y=0  b) y111+y11-3y1=0  c) y11+2y1+y=0  d) y111-2y11+3y1+y=0
3. Find the differential equation of the family of curves y=ex (Acosx+Bsinx)			(d)
a) y11-2y1+3y=0  b) y11-3y1+y=0  c) y11-2y1+3y=0  d) none
4. Form the differential equation by eliminating the arbitary constant   y2=(x-c)2 		(a)
a) (y1)2=1   b) y11+2y1=2  c) (y1)2=0  d) none
5. Find the differential equation of thefamily of parabolas having vertex at the origin and foci on y-axis																(b)
a) xy1=2x  b) xy1=2y  c) xy1=4y  d) none
6. Form the differential equation by eliminating the arbitary constant tanxtany=c		(b)
a) y1 (tany+sec2 x)=0  b) y1 (tany sec2 y)+tany sec2 x=0  c)y1(tanx  sec2 x)+tany sec2  x=0  d)none
7. Obtain the differential equation of the family of ellipse x2 /a2  +y2 /b2 =1			(c)
a) xyy11+xy1=0  b) xy11+xy=0  c) xyy11+x(y1)2-yy1=0  d) none
8. The family of straight lines passing through  the origin is represented by the differential equation 																(b)
a) ydx + xdy=0  b) xdy – ydx=0  c) xdx + ydx=0  d) ydy – xdx=0
9. The order of x3  d3 y/dx3-3y=x is 											(c)
a) 2   b)3   c) 1   d)  none
10. The degree of the differential equation [d2y/dx2+(dy/dx)]3/2=a d2y/dx2 is 			(a)
a) 2   b)3   c)1    d) none
11. The family of the straight lines passing through the origin is represented by the differential equation 															(b)
a) ydx + xdy=0  b) xdy – ydy=0  c) xdx + ydx=0  d) ydx – xdx=0
12. The solution of the differential equation dy/dx+y/x=x2 under the condition that y=1 when x=1 is																		(b)
a) 4xy = x3+3    b) 4xy = x4 +3  c) 4xy = y4+3  d) 4xy = y3 + 3
13. The equation dy/dx  + ax+hy+g/hx+by+f=0 is									(c)
a) Homogenous   b) variable seperable   c) exact    d)  none
14. The rate at which bacteria multiply is proportional to the instantaneous number present. If the original number Doubles in 2 hr, in how many hours will it triple?						(C)
(a) hrs
(b)  hrs
(c) hrs
(d)  hrs
15. The general solution of law of natural decay is              							(d)
(a) y(t)=y(0) + ce−kt
(b) y(t)=cekt
(c) y(t)=y(0) + cekt
(d) y(t)=ce−kt
16. The temperature of a body changes at a rate which is proportional to the difference in temperature between that of the surrounding medium and that of the body itself is known as (c)
(a) heat flow
(b) law of netural decay
(c) newton law of cooling
(d) law of natural growth



17.																										(d)
[image: ]
18.																										(c)
	[image: ]
19. The differential equation of orthogonal trajectories of the family of curves y2=4ax, where  ‘a’ is the parameter is 										(d)
a) y dy/dx=-2x  b) ydy/dx=2x  c)xdy/dx=2y  d) none
20. The differential equation of the orthogonal trajectories of the family of curves xy=a2 where a is the parameter is											(c)
a) y dy/dx=x   b) y dy/dx+x=0  c)y2-x2 =2c	d) none	
21. The differential equation of  the orthogonal trajectories of the family of curves r=aθ where  ‘a’is the parameter is										(b)
a) a log r/θ=c   b) a log r+θ=c  c) a log r-θ=c  d) a log rθ=c
22.																											(a)
[image: ]
23. The general equation of (D2-4D+3)y=cos2x is					 (a)
a) C1ex+c2e3x-1/65(cos2x+8sin2x)  b) C1ex-c2e3x-1/65(cos2x+8sin2x)   c) C1ex+c2e3x-1/65(cos2x-8sin2x)  d) C1ex-c2e3x-1/65(cos2x-8sin2x)
24.The C.F of   y”-2y’+2y=0							 (b)
a)   ex(C1cosx-C2sinx)   b)  ex(C1cosx+C2sinx)      c)   ex(C1cos2x+C2sinx)      d)    e-x(C1cosx+C2sinx)
25. The C.F of   (D3+4D)y=0							(c)
a)    C1+C2cosx+C3sinx        b)    C1-C2cos2x+C3sinx        c) C1+C2cos2x+C3sin2x        d) C1-C2cos2x-C3sin2x        


Y E L L O W
1. The P.I of  (D2-5D+6)y=e2x is					(a)
a)-x e2x     b) x e2x     c) e2x    d) 0
2. P.I of  (D+1)2y=x is								(b)
a) x   b)  x-2  c) (x+1)2   d) (x+2)2
3.  1/D2+D+1(sinx)=									(b)
a) sinx  b) -cosx  c) 1/3 sinx   d)1-cosx
4. P.I of  (D-1)4y=ex  is										(a)
a)  x4/4!(ex)   b)  x4ex    c) ex   d)  ex/4
5. The value of 1/D-2(sinx) is								(d)
a) -1/5(cosx+sinx)  b) 1/5(cosx) c) 1/5(sinx) d)  1/5(cosx-2sinx)
6. The value of  1/D2+4(sin2x) is 									(d)
a) 1/5 (sin2x)    b) -1/5 sin2x   c) 1/5(cos2x)   d) -1/4 cos2x
7.1/D2-1(ex)=											(d)
a) 1/2(xex)  b)-1/2(xex)   c) x2/2(ex)   d) none
8. 1/D+2(x+ex)=											(d)
a)-x/4-1/16+ex/3   b) x/4+1/16-ex/3 c) x/4-1/16+ex  d) none
9. P.I  of (D4-1)y=excosx 						(b)
a)     -excosy/6     b)     -excosx/5     c)     -excosx/3     d)     excosx/5     
10 .C.F of (D-1)2y=sin2x is										(a)
a) (c1+c2x)ex   b)(c1+c2x)e-2x    c)c1x+c2ex  d) none
11. P.I of   (D2+1)y=x2e3x is										(c)
a)     e3x/250 (25x2+30x+30)    b)     e3x/250 (25x2-30x-30)    c)     e3x/250 (25x2-30x+30)   ( d)     e3x/25 (25x2-30x+30)    
12. P.I of   (D2-2D+1)y=coshx is								(a)
a) x2/4(ex)+e-x/8  b) x2/4(e-x)+ex/8  c)x2/4(ex)   d) c1ex+c2e-x
13. If  30% of the ratio active substance disappears in 10days ,how long will it take for 90% of it to disappear											(b)
a) 34.5days  b) 64.5days  c)100.0days  d)55.5days
14. a bacterial culture,  growing  exponentially, increases from 100 to 400 gms in 10 hrs. How much was present after 3 hrs from initial instant							(a)
a) 141.4gms b) 141.3gms  c) 141.2gms d) 141.1gms
15. The number  N of bacteria ina culture grew at a rate proportional to N.  The value of N was initially 100and increased to 332 in one hour. What was the value of N after 1(1/2)	(c)
a)600   b)610   c)605    d)  none
16 .Abody is originally at 80’c and cools  down to 60’c in 20 minutes. If the temperature of the air is 40’c ,find the temperature of the body after 40 minutes					(c)
a)20’c   b)40’c  c)50’c  d)60’c
17. Bernoullis equation is of the form						(a)
a)dy/dx+py=Qyn  b) dy/dx+Qy=Qyn c)dy/dx+py=pyn   d)dy/dx+ab=0
1 8. P.I of   (D2-2D+4)y=e2xcosx is								(b)
a)       e2x(2sinx+3cosx)/3    b)      e2x(2sinx+3cosx)/13    c)      e2x(2sinx+cosx)/13    d)      e2x(2sinx-3cosx)/13    
19. find the equation of orthogonal trajectories of circles r=acosθ				(a)
a) r=c sinθ   b)r=c cosθ   c)r=c secθ     d) c taθx
20. 											(a)
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21. P.I  of  (D2+D+1)y=x3							(d)
a)     x3+3x2+6     b)     x2-3x+6       c)     x3-3x2-6          d)     x3-3x2+6
22. The general equation of (4D2-4D+1)y=0 is						(d)
a) y=c1 e-x/2+c2 e-x/2   b) y=(c1x+c2)e-x/2   c) y=c1e-x/2+c2ex/2  d) y=(c1+c2x)ex/2
23. The C.F of   (D+1)(D-2)2y=e3x is								(b)
a) (c1+c2x)e-x+c3 e3x  b) (c1+c2x)e2x+c3e-x   c) c1e-x+c2e2x  d) none	
24. P.I  of  d3y/dx3+y=e-x  is										(a)
a) x e-x           b) e-x/3       c)  -xe-x/3        d) none
25. The P.I of (D2+a2)y=cos ax is									(b)
a) –x/2a cosax        b)x/2a sinax    c) xcosax       d)  x sinax



R E D

1. The population of a country increases at the rate proportional to the current population. If the
population doubles in 40 years when it will be tripled (in years)			(d)
(a)   10 log3/log2    b)   20 log3/log2    c)   30 log3/log2    d)   40 log3/log2    

2. If the differential equation of the given family is r=θ dr/dθ, then the differential equation of the orthogonal trajectories is 										(b)
a)     dr/r=θdθ    b)    dr/r=-θdθ    c)    dθ/θ=θdr       d) none    

3.    the P.I. of   e2x/(D2-6D+6)=									(c)
 a)      e2x/2       b)      e-2x/2          c)     - e2x/2       d)      xe2x/2       

4. 													(b)
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5.	  											(c)
[image: ]
6.												(b)
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7.												(b)
[image: C:\Documents and Settings\Staff.STAFF17\Desktop\untitled.bmp]
8. The orthogonal trajectories of xy = c is							(b)
(a) x2 + y2 = a2 (b) x2 − y2 = a2 (c) x2 + 2x = c (d) y2 − 2x = c
9. The nature of the differential equation y sin 2xdx − ( y2 + cos2 x)dy = 0		(d)
(a) Homogeneous (b) Linear (c) Bernoulli (d) Exact
10. The differential equation of orthogonal trajectories of ay 2 = x 			(c)
a) y dy = x dx     b) 2y dy = 3x dx      c) 3y dy = - 2x dx      d) y dy = -2 x dx

11.The Orthogonal trajectory of the circles  is        				 (a )
a)         b)     C)       d)  
12. The orthogonal trajectories of            is      				       (b)
a)           b)     c)                   d)           
13.In Othogonal trajectories   is replaced by 						 (  d)
a)            b)        c)    d)
14.The P.I of (D³+2D²+D)y =    is   						( c )
a)    b)     c)    d)
15.The newton’s law of cooling  is   							(a )
a)       b)         c)         d)none
16.If money is invested at 5%, compounded continuously, in ------- yrs will the money  doubled  in value  	a)12.9   b)13.9    c)14.9    d)15.9							(b )
17.If the roots are -1,-1,2,2 then C.F is  								 (a)
a)(   b) )(    c) )(     d) )(
18.(cosx)     										( b )
a)sinx     b)-sinx     c)cosx    d)-cosx
19.C.F of (D³-5D²+8D-4)y =     is  							 ( a )
a)    b)    c)       d)
20.The integrating factor of      						( c )
a)x     b)-x   c)logx   d)-logx
21. The integrating factor of dr+(2rcotθ+sin2θ)dθ=0   					(b)
a)sinθ     b)sin²θ    c)cosθ    d)cos²θ
22. The integrating factor of     is 							 ( b)
a)      b)          c)          d)
23. Solution of  (x  							( c)
a)         b)     C)       d)  
24. In Othogonal trajectories   is replaced by 						 ( c)
a)            b)        c)    d)
25. cosx   is 										 ( a )
a)sinx    b)-sinx   c)xsinx   d)-xsinx
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